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Дано:
  Q=4kH, G=2kH, a=50см, b=30см.

Определить: реакции опор А, В, С.
Решение:
1) ∑FKX=XA+XB-RC∙cos30°+Q·sin45°=0;
2) ∑FKY=YA=0;

3) ∑FKZ=ZA+ZB+RC·sin30°-G-Q·cos45°=0;

4) ∑MKX=ZB·AB-G·AB/2-Q·cos45°·AB=0;

5) ∑MKY=G·AC/2·cos30°-RC·AC·sin60°+Q·AC·sin75°=0;


6) ∑MKZ=-XB·АВ-Q·AB·cos45°=0.
Из (6)   XB=(-Q·AB·cos45°)/АВ=-4·50·0,7/50=-2,8кН

Из (5)   RC=(G·AC/2·cos30°+Q·AC·sin75°)/AC·sin60°=
=(2·30/2·0,87+4·30·0,96)/30·0,87=(26,1+115,2)/26,1=5,4кН
Из (4)   ZB=(G·AB/2+Q·cos45°·AB)/AB=(50+141,4)/50=3,8kH
Из (3)   ZA=-ZB-RC·sin30°+G+Q·cos45°=-3,8-2,7+2+2,8=-1,7кН
Из (1)   XA=-XB+RC∙cos30°-Q·sin45°=2,8+4,7-2,8=4,7кН
Результаты вычислений:

	Силы, кН

	RC
	XA
	YA
	ZA
	XB
	ZB

	5,4
	4,7
	0
	-1,7
	-2,8
	3,8


